Pre HL : Unit 2 IB Exam Style Questions:    Similar Questions will show in Unit 2 Exam
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3.     Given  and 


   a)  Calculate 

   b)  


	
	

4.    Find all values of x that satisfy the inequality, .
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	6.
	Using your graphing calculator:
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7.  a) or b) keep just one
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8.  
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The following diagram shows the graph of y = f(x). for -4<x<5.

(a) Wit down the value of
0 f3):
@ .

(b)  Find the domain of ™.

(c) On the grid above, sketeh the graph of £~
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Consider the functions f and g defined by f(x)=2% and g(x)=4-2%,x#0.

(a)  Find the coordinates of P, the point of intersection of the graphs of f and g.
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[Maximum mark: 6]
Consider the functions given below:
S@)=2c+3
&

(@ (@ Find (g°/)(x) and write down the domain of the function.
(i) Find (fog)(x) and write down the domain of the function. [2 marks]

(b)  Find the coordinates of the point where the graph of y=_/(x) and the graph
of y=(g s fo£)(x) intersect [4 marks]
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Let a>0. Draw the graph of y =| x—g for —a<x<a on the grid below.
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Let f()=[x{~1

(@) The graph of y=g(x) is drawn below.

@) Find the value of (7o£)()
(ii) Find the value of (fogog)(1)
(ifi) Sketch the graph of y=(f2g)(x)

() @ Sketchthe graph of y= £ (x)
(i) State the zeros of 7

© @ Skeichthe graphof y=(f/)(x)

() State the zeros of fof
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Consider the functions given below.
F(x)=2x+3
@=L x20
x
() () Find (go/)(x) and writc down the domain of the function.
(i) Find (fog)(x) and writc down the domain of the function.

(b) Find the coordinates of the point where the graph of y= f(x) and the graph
of y=(g” o fog)(x) intersect.
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